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musa [RE)]: ~BE / ERAE [F9302) protected void Page Load(object sender, EventArgs e)
#HB = &o#8 (42X %F[RJAVA-SQL- .NETETAHX] - A &0¥ - THEH - {
FHAERA - @B EFE) inti=10;
X FRARAGBTHR - int j = 20;
A ORLAHMARELES S AFBITHIE - R ARSE  ERBEH L TR 0 oA K FJE LB 3R int total = i + |;
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QABREL —REE » AL AB2IFEIER  LAE,H A 20 5 - String s = String.Format("{0}+{1}:& & & % 4:{2}", i, , total);
OIFBZEAMAEYE - LEMEIRTENLELLBEBRANS > FHEEENEF—AHBLETE > & Response.Write(s);
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BELER s REANARERAARECZETHEESKENEZ@RER - SBMREZ import java.util.*;

EERAL  ZH 105 REFHESEIHERABREELGTARERBTE - _ Y
OB K EHLME > REEEZARNENIHE - public class PassWordGen {

e —: public static void main(String argsl]) {

Scanner s = new Scanner(System.in);
int num=0,temp;
dof
System.out.print("F & AN —18 4 L CiE A 1 ");
num = s.nextInt();
}while (num<1000||num>9999);
int arrayNum[]=new int[4];
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public partial class Training1 : System.Web.Ul.Page
{

protected void Page Load(object sender, EventArgs e)

{
string question = "Do you like ASP.NET?";

Response.Write(question.Substring(12) +"<br>");

arrayNum[0] = num/1000; /BT {3 T Y B 5
string companyName = "ASPNET Company"; arrayNum(1] = (num/1 000)%1 O //ngﬁité@gif
Response.Write("5 % a & .44 4 & "+companyName.IndexOf("a")); arrayNum[2] = (num/10)%10; /1B 431 70 0 B 5

arrayNum[3] = num%10; [/BRAB A3 ey B 5

Response Write("5# A i 38,894 & "+companyName.IndexOf("A",7)+"<br>"); T
for(int j=0;j<4;j++)
string[] EmpNames = {"Adams","Richard","Jerry","Sophie"}; { _
, , . _ arrayNum([j]+=5;
string Employees = string.Join(";", EmpNames);

Response.Write(Employees); }arrayNumU]%=1 0;

for(int j=0;j<=1;j++)
} {

temp = arrayNum([j];

arrayNum([j] = arrayNum[3-]];

arrayNum[3-j] =temp;

}
System.out.print("w B4 89 & F 5 * ");
for(int j=0;j<4;j++)
System.out.print(arrayNum(j]);

}
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